Warm Up

Solve for x:
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‘ Homework Questions? ‘
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Caaculating Slope From a Graph or 2 Coordinate Pairs

Find slope using a graph. (Make sure to select points with whole number coordinates.)

Remember: Slope = i—i’ This should be written for every problem where you have to calculate slope.
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Find the slope between two points. Show your thinking!

Remember: Slope = i—z This should be written for every problem where you have to calculate slope.

7. (1,-19),(-2,-7) 8. (-4,7),(-6,-4)

9. (20,8),(9,16) 10. (3,0),(-11, -15)




Match-A-Slope

Match the following graphs with their slopes. Pay special attention to the scaling on each set of axes. Show
your calculations to find each slope.

a. slope = i b. slope = % c. slope= 2 d. slope = —g
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SWBAT:
» Describe patterns of change in tables and graphs using

proper mathematical language.
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» Determine when data points should be connected on a

graph.
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» Solve for "x" algebraically, using proper format.

« Calculate slope given a graph or two points.



Distributing Witk Fractiens
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Selving Witk Fractisns
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Solving for x with Fractions
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Homework

Finish classwork



